9 qftdent /QUESTION BOOKLET

e /CODE : 00

<h¢TH Pre. PATWAR

%A &1 /SR No.

[fcreh & w5t it W/

| Number of Pages in Booklet : 48
(afrert & ot it T /

Number of Questions in Booklet : 150

KPP001

ehele HIST

959 / Time : 3.00 =< /Hours

quiter / Maximum Marks : 300

INSTRUCTIONS

Answer all questions.

All questions carry equal marks.

Only one answer is to be given for each question.

If more than one answers are marked, it would be

treated as wrong answer.

5. Each question has four alternative responses marked

serially as A, B, C, D. You have to darken only one
circle or bubble indicating the correct answer on the

Answer Sheet using BLUE BALL POINT PEN.

6. 1/3 part of the mark(s) of each question will be de-
ducted for ecach wrong answer. (A Wrong answer
means an incorrect answer or more than one answers
for any question. Leaving all the relevant circles or
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Which of the following food component does not provide protection to the body?
1. Mineral Salts 2. Fat 3. Protein 4. Carbohydrate 5. Water

(A) Only (4) (B) Only (2) and (4)

(C) Only (4) and (5) (D) Only (2), (4) and (5)

7 o | PAY 99 % 31999 i qeA 1 IRR T GRET ToH B T 82

1. Gt dqu 2. 99 3.9 4. FEREESE 5.9

(A) %ad (4) (B) shad (2) 9 (4)
(C)shad (4) 9 (5) (D) %ad (2), (4) T (5)

Consider the following statements and identify the true statement and select the correct code :

1. The focal length of a plane mirror is infinity.

2. The image 1n a convex mitror 1s always virtual and erect.

3. The power of a lens is measured in diopters.

(A)Only (1) and (2) (B) Only (2) and (3)
(C) Only (1) and (3) (D) (1), (2) and (3)

=T meri I for= ot Icd e ol T8= hid Y HE! he ol =4 hifolT -
1. A 0T i Whiehd G 3Td Sl |

2. T 3T <407 § ffors Tea ol o Hien aman g |

3. o1 i &7HaT T S H AT S ¢ |

e
(A) e (1) T (2) (B) shad (2) 9 (3)
(C) e (1) 9 (3) (D) (1), (2) A (3)

Select the mismatch from the following -

Disease Causative agent
(A) Whooping cough - Bordetella pertussis
(B) Syphilis - Treponema pallidum
(C) Chicken Pox - Variola Virus

(D) Measles - Rubiola virus

P.T.O.
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G)

1 § 9 srgafea #r sifed -

T T
(A) FR @t - S wfam
(B) farferst - A Yy
(C) forh drerd - At s
(D) theieq - ST AR

Which one is incorrect about the various substances added to cement and their functions at the time of
manufacture?

(A) Gypsum - Accelerates the rate of solidification.

(B) Silica - Provides strength to cement.

(C) Iron Oxide - Gives brown color and hardness to cement.

(D) Lime - Main component of cement which acts as a binder.

Hite 3 fmior & v 3ud firear st e fafr= geelf wd sk rif & dele § o wifed?
(A) foreem - S i T A FaAr g |

(B) fafae - Ttz 1 amed yeH Far € |

(C) TE TGS - HiHiz ol U T1 o HSRaT Y&H L ¢ |

(D) =T - Hitie I Y& T2 ¢ il 94 1 i Rl S |

Aquaregia s -

(A) 3HNO,+1HCI (B) IHNO_+3HCI
(C)3HNO,+1H,_SO, (D) 1HNO,+3H,SO,
3 T 2~

(A) 3HNO,+1HCI (B) IHNO_+3HCI
(C)3HNO,+1H,_SO, (D) 1HNO,+3H,SO,

With regard to Nylon-66, consider the following statements and identify the true statement?
1. It 1s the first fully synthetic fiber.

2. Itis used in making parachutes, ropes, tents etc.

3. It is formed by the polymerization of adipic acid and ethylene glycol.

4. Its fiber 1s similar to that of natural silk.

(A)Only (1) and (2) (B) Only (1), (2) and (3)

(C) Only (1), (2) and (3) (D) (1), (2), (3) and (4)

P.T.O.
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(4)

AEAM-66 & Fag H 1 FeAl W TR 9T FU1 Hl 969 Hifoy?

1. 9% JH 0T Heeifia e g |

2. TR TN TYfe, T, 19 onfe amm H foran STan g |

3. I8 Tfefier 31ra 9 TRl Tasehial o SgeTshiohol ¥ ST © |

4. 3TRT L9 YThfaeh T8 & T9H BT § |

(A) e (1) T (2) (B)shad (1) (2) 9 (3)
(C) ara (1), (2) 9 (3) (D) (1), (2),(3) 9 (4)

Identify the false statement from the following -

(A) Blood is a fluid connective tissue which is acidic in nature.

(B) In the embryonic stage, the formation of blood takes place in the red bone marrow.
(C) The process of blood formation is called hemopoiesis.

(D) Measurement of blood pressure is done by sphygmo menometer.

FreAfaiad o ¥ 190 e 6l U89 ity -

(A) TR Teh T HATST 37k ¢ ToRTen! Tehid TR 31t € |
(B) Yo 31aren ® e ol fofor arer s1feermest & S |
(C) T fafor =6t foran feriarsfag e 2 |

(D) T <19 1 {9 TR A9 Tie gRy o < & |

Which of the following is not correctly matched?

(A) Vitamin A - Retinol (B) Vitamin B3 - Thiamine

(C) Vitamin C - Ascorbic Acid (D) Vitamin E - Tocopherol

et 3 9 s i i T 32

(A) farfim A - dfeAta (B) foreifia B3 - ot

(C) faetfi C - Tw=hifeles o1 (D) o1 E - 2rehithliel

Who was the flag bearer of the Indian contingent at the closing ceremony of the Tokyo Olympics?
(A) Manpreet Singh (B) Meera Bai Chanu

(C) Bajrang Poonia (D) Ravi Dahiya

2R AU o THU THNE H RATT S0 o eaSTam8eh 47
(A) T fife (B) W =% =]
(C) s gfm (D) Mg sfean

P.T.O.
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10.

I1.

12.

13.

®)

India's first rapid electronic covid test kit ' COVIHOME' has been prepared by which institute?
(A) DRDO

(B) AIIMS

(C) Indian Institute of Technology - Hyderabad

(D) Indian Institute of Technology - Jodhpur

I ! T8l LS 3oiaie Hifdas < fhe 'COVIHOME! i Tt T gr oar fean T &2
(A) SLAErLeN

(B) ©w

(C) R Wr=NfiTeh T — SUerg

(D) YRGT Fr=ifTent Heem — STeqe

The country's first gender park has been developed in which state?
(A) Telangana (B) Tamil Nadu
(C) Kerala (D) Sikkim

2T T TB St Uik fohd T i foenfa foran man 2

(A) T (B) aferTrg,
(C) (D) fafaerm

Where was the joint exercise of the three wings of the Indian Army Amphex-21 held at the end of
January 2021 ?

(A) Andaman and Nicobar (B) Lakshadweep

(C) Chennai (D) Visakhapatnam

SHEt 2021 % 3Td H AR I F AT AT B YD FSIAE TERaT-2 1 gl ST 5 Tn?
(A) 3TsuM fhER (B) &gy
(C) =g )RERICIRGEE

What is the rank of India in the Gender Gap Report 2021 released by the World Economic Forum for the
year?

(A) 112 (B) 121

(C) 142 (D) 140

P.T.O.
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14.

15.

16.

(6)

forgar anfefer b= gra o 2021 & fere S <ifien 2fauer e 2021 § wRa o1 €= &2
(A) 112 (B) 121
(C) 142 (D) 140

On 24 April 2021, Justice N.V. Ramanna has been appointed as the new Chief Justice of India. How many
people have held the post of Chief Justice in India before him?

(A) 48 (B) 47

(C) 46 (D) 45

24 3TY, 2021 I SIEH T 3. T Rl R T T2 & AR Fh e T 2 1 378 qe R # o @rt
A AT o I8 WIE Ioh &7

(A) 48 (B) 47

(C) 46 (D) 45

Who represented India in the 69th Miss Universe pageant?
(A) Andrea Mezza (B) Adeline Castellino
(C)Harnaaz Sandhu (D) Shri Saini

6o T et whrhfira 3 v o Wit forer fora?
(A) Tfgan o=t (B) Tsfe st
(C) TTIST 6y, (D) &t &t

PM Vani scheme is related to?
(A) Providing public WiFi service
(B) Making the voice of the youth vocal

(C) To provide accessible telephone service in rural areas vep gl

MS

(D) Skill development in the field of technology

T ST ST BT G §?

(A) I A Sl T
(B) a3l & TR bl FE M ifdca A

(C) Uo7 &3 W Y el Tl Sqs LMl . _

(D) FFiveitslt & & 1 et forer - oo

www.kalam.academy Mm

P.T.O.
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17. Match List A with List B and select the correct answer from the codes given below-]

List A List B
(a) The Charter Act of the 1813 1. Communal election system
(b) The Charter Act of the 1833 2. The end of the company's trading monopoly
(¢) Morley Minto Act of 1909 3. Bicameral legislature at the center
(d) Montagu - Chelmsford Act 1919 4. Post of governor general of india
Code :
(a) (b) ¢ (@@
A) 1 2 3 4
(B) 3 4 1 2
© 3 2 1 4
(D) 2 4 1 3
e 1 1 g 2 T A wE a9 ST T el H | g S H 5w -
it 1 it 2
(a) 1813 I =X TR 1. AT fat=H gomett
(b) 1833 1 =X TR 2. AT o AT TeHIERR i FHIG
(c) 1909 =1 HIet THUST TR 3. %5 1 fggaiia sgereenfyes
(d) 1919 Wl Hi<TY - TFAHS TR 4. TRA o T S ol 15
e
(a) (b) ¢ (@@
(A) 1 2 3 4
(B) 3 4 1 2
©) 3 2 1 4
(D) 2 4 1 3
18. Inwhich of the following articles, the rights cannot be suspended even during emergency?
(A) Articles 19 and 20 (B) Articles 20 and 21
(C) Articles 21 and 32 (D) Articles 19 and 32

frefafea § 9 F-9F 9 ST=dl § Yed ATIERI 1 SuTdehict % <A oY faftsm =t fran s gk -

(A) 3TT=5% 19 9 20 (B) #1I=5% 20 9 21
(C) =55 21 9 32 (D) 3= 19 9 32

P.T.O.
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19.

20.

21.

©)

Select the false statement -

(A) The grounds for the removal of the Vice-President are not mentioned in the Constitution.

(B) In the event of the vacancy of the Vice-President, the election of the Vice-President must be held
during the next six month.

(C) The proposal for the removal of the Vice-President from office can first be presented only in the
Rajya Sabha.

(D) The dispute relating to the election of the Vice-President shall be decided by the Supreme Court only.

3T e 1 =T D -

(A) ITUEYFT o I8 | F2M & MR 1 G § oo T8 ¢ |

(B) Swguld o1 98 Reh 31 i fearfd o 31Tt ¢ AR ! a7aft H gl ol e M1 STewa © |
(C) ST i I8 H T 1 TAE U8 halel T | H 21 T fohan ST Hehal 2 |

(D) STgfd & et ¥ Heifaa foams 1 foia Shaa Fetea = w4 |

Compliance 250 is related to-

(A) The making of laws by Parliament on any subject in the State List on the demand of two or more States.
(B) In case of national emergency, the making of laws by Parliament on any matter in the State List.
(C) To declare any subject in the State List to be of national importance by passing a resolution by the
Rajya Sabha.

(D) Legislation by the Parliament on any subject in the State List for the implementation of international
treaties and agreements.

3. 250 T G &

(A) R A1 G ATk Tl i AT X T2 < fordl foro W ges gr fafy fmior

(B) TET TR i 2 § TG o foRel for ) dos gr fafer for |

(C) Tsa81 G G WA o T < TohEt form bl Ugia e ol =ivd s |

(D) ST Tt e il o fharera 3q Tsaw= & et fova w Hag gy fafy faeion

With reference to the Preamble of the Indian Constitution, the correct definition of "We the People of
India' is-

1. We reside in India.

2. The source of the power of the Constitution is the people of India.

3. Sovereign power is vested in the people.

4. The British did not make this constitution.

(A)Only 1,2, 3 (B)Only 2,3, 4

(C)Only 1,3, 4 (D)1,2,3and 4

P.T.O.
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22.

23.

)

TR HiTE hl TEqraqT & G T g0 9RA & <’ i et = & -
1. 89 IR | fa@ i € |

2. Hfaem i 9ift <l Wi WRA I SHAT § |

3. 99 W6 sHa H FfEa

4. 39 dfae o1 fmior 39St 3 &1 fra

e
(A) Fae 1, 2, 3 (B) % 2, 3, 4
(C) a1, 3,4 (D)1,2,394

Which one of the following is not the duty of the Prime Minister-

(A) To send to the President the information of all decisions relating to the administration and legislation
of the Central Government.

(B) To give that information to the Central Government when asked for information relating to the
administration and legislation by the President.

(C) Any matter which has been decided by a Minister but has not been considered by the Council of
Ministers, shall, when called upon by the President, present the same to the Council of Ministers for
consideration.

(D) Send the notice of resignation by a minister to the President as soon as may be.

frAfafaa o & P Tk TerER a5 e 7 B

(A) 98 & SRR F TRIEA a1 faem & geifa g+ o o6t 5= agafa s afta w L

(B) ULl GRI % TCHR o TR o forer Heieh I A S w3y o8 ga s |

(C) Toreht Aot W forsdt w3t =1 farfreera ot foran 21 eifert wlReg - 39 W fo=m 7 foran €1 <@ Tgafa gy stuen
T ST 1 34 HiEARYS & He foreR v 3 T

(D) foredt w3t 50 wmToA XU ST ot =1 Aemeis Tgafd i it

Which one of the following subjects comes under the jurisdiction of both the Supreme Court and the
High Court?

(A) Disputes between the states (B) Disputes between the center and the states

(C) Protection of Fundamental Rights (D) All of the above

frefafaa o & e e fave Tei=a = @ S=a =g SH1 & STer 89§ o€ ?
(A) T o IREqRe foaerg (B) %% 9 T4 & o faer]
(C) gt ek skl |0l (D) Suda gt

P.T.O.
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24.

25.

26.

(10)

Which of the following in Rajasthan does not come under the jurisdiction of Lokayukta?
(A) Ministers of the Government of Rajasthan

(B) Member (MLA) of Rajasthan Legislative Assembly who is not a Minister.

(C) The heads of various corporations or boards

(D) Pradhan and Up-Pradhan of the Panchayat Samiti

TR | 9 i AR & SATIHR & % 3T 81 A1 ¢ 2
(A) TSI FhRR 6 HAl

(B) TSTer faama«n & wee (fqome) s w4 =i 2|

(C) fafu=1 frmai = queai & sreae

(D) d=mErd |iHfd & 99 9 U9

With reference to the Rajasthan State Election Commission, select the false statement-

(A) It is a one member body.

(B) The Rajasthan State Election Commission was established in July 1994.

(C) The State Election Commission is a subordinate body of the National Election Commission.

(D) At present the tenure of the Rajasthan State Election Commissioner is Five Years or Sixty Five Years
of age, whichever is earlier.

TSTEIH T4 Frai= ST o Hawl H oTa e ol I -

(A) 78 T Tewig e 2 |

(B) TSTEATH T4 THaT=H STRIRT ot T Sl 1994 H o1 7% |

(C) Toa Tat=m T TF A TR i Ueh STE-EY e § |

(D) FduH § TSN T4 Fai= STgad ol shriehra 5 9 A1 65 96 o1 S ot 98l &, 2 |

Who has been notified as Public Hearing Officer at Panchayat level by the Government of Rajasthan for
matters other than revenue?

(A) Gram Sevak (B) Patwari

(C) Ward Panch (D) Sarpanch

TSTE TR A TS 9 =1 Trmedt o foT demaa ) R Rl @ik g Tfuehl o &9 8 S1femgfaa foran g2

(A) T Tah (B) e
(C) o 9= (D) 5=

P.T.O.
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27.

28.

29.

(11)

Consider the following statements-

1. Rajasthan Public Service Commission was established in Ajmer on 20 August, 1949.

2. The Rajasthan Public Service Commission currently has seven members including the chairman.

3. The tenure of the chairman and members of Rajasthan Public Service Commission is fixed for a
period of 6 year or till the age of 62 year, whichever is earlier.

Select the code containing the false statement/statements

(A)Only 1 and 2 (B) Only 1 and 3
(C)Only 2 and 3 (D) Only 2
Frfaad el ax fa=m -

1. ST 1ok T ST ht TATIAT 20 3T, 1949 . h1 TSTHL § i T |

2. TSTEA e Tell ST § odaH | 2198 Tfgd 96 e © |

3. STE 1ok HaT 3TRINT o 31eAe] o UeEAl ol R 6 T8 ohi STAT 3T 62 9 i 3, S ot I8t &1 9l aoh
fraif@ g1

3T R/ Alel HE Rl = hi-

(A) I 192 (B) kol 179 3

(C) koIt 2 9 3 (D) shad 2

When and where was the Rajasthan High Court formed?

(A) 29 August, 1949 at Jaipur (B) 29 August, 1949 Jodhpur
(C) 28 January, 1950 in Jaipur (D) 28 January, 1950 Jodhpur

TSTE S =ATATETd I T el o Hal Tha T
(A) 29 3T, 1949 S H (B) 29 3R, 1949 SYqT H
(C) 28 &, 1950 ST H (D) 28 S, 1950 STEqT H

The Governor of Rajasthan is the Chancellor of-

(A) of all State Universities

(B) of all the State and any Universities

(C) of all State Universities and of all Central Universities functioning in the State;

(D) of all State Universities, Central Universities located in the State and all private Universities in the State.

P.T.O.
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30.

31.

32.

33.

(12)

TSTEH o T Fealferfa g &

(A) 9+t T3 fareafa=nerdi

(B) 9+t T 9 Terdlt fareafornerii

(C) T+t T Taeafar=nerdi qen T H it 9+t s favafa=mei &

(D) Tt T Toreaforenetdi, Toar | feord shsita foreafor=metdi an T s |t =it foreaferameral o |

Who among the following served as the Speaker of Rajasthan Legislative Assembly for the longest

period-
(A) Narottam Lal Joshi (B) Ram Niwas Mirdha
(C) Harishankar Bhabhada (D) Parasram Maderna

frefafaa ° 9 oF 9@ o STafy T T faumasmese 1e W ©-

(A) T et STt (B) Tu-ame fire
(O ETRIEE (D) TRERH HeToT
Who gave the term National Revolt' to the revolt of 1857 ?

(A)Jaun Laurence (B) Jems Autram
(C) Benjamin Disrely (D) V. D. Savarkar

1857 ohl Shifd o ' TETA Tage’ &1 G fhaq <1 2

(A) St A (B) S 7=

(C) sisfi fesiett (D) =it. <. et
'Din-i-Ilahi was a symbol of Akbar's foolishness.' Whose statement 1s this?
(A) V. Smith (B) Max Miiller

(C) Badauni (D) Abul Fazl

‘- T3 TSR T TEAT B T AT | U8 T fohwent 87

(A) =, T (B) Troraver

(C) sRRLH (D) 19t it

With which treaty did the First Anglo-Mysore War end?

(A) Treaty of Mangalore (B) Treaty of Madras

(C) Treaty of Alinaga (D) Treaty of Sri Rangapatnam

P.T.O.
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(13)

T AT TR g5 ford G 3 wrer guTa gam o2

35.

36.

(A) T 1 HfH (B) A= i Hfer
(C) it TR i Gy (D) &t TTagH i Htr
. Which is called 'Ulgulan'?
(A) Koya rebellion (B) Munda rebellion
(C) Chechu rebellion (D) Naikda rebellion
‘IR R T § 7
(A) s forie (B) quet fogig
(C) = fase (D) b forse
Which pair 1s not correctly matched-
Temple Place
(A) Vrihdeswar Temple - Amrawati
(B) Papnath Temple - Pattdkal
(C) Jagannath Temple - Puri
(D) Lingraj Temple - Bhuwneshwar
i I gaferd T8l & -
Hfex T
(A) FeTTHII - ST
(B) dT9T Hfe - RECALIS]
(C) ST Hfex - kel
(D) feimmarst wfex - RERECH
Which Mauryan ruler is called Amitraghata?
(A) Ashok (B) Chandragupt
(C) Bindusar (D) Dasrath
forer Al v A1 ST et T 2
(A) =T (B) ==TH
(C) forgar (D) =erer

P.T.O.
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37. Who among the following was the first Satyagrahi in Individual Satyagraha?
(A) Jawahar Lal Nehru (B) Subhash Chandra Bose
(C) Abdul Gaffar Khan (D) Vinoba Bhave

frafafed & @ A =feTa 9omE 8 9o TanEl 9

(A) SR A 18& (B) GHTI=I= a9
(C) 7o THRR T (D) forrem 9
38. Which pair is not correctly matched-
(A) Quit India Movement - 1942 (B) Non-cooperation Movement - 1920
(C) Individual Satyagraha - 1941 (D) Individual Satyagraha - 1930
i g g fera el 8-
(A) YIRA BIEI 3TEEH - 1942 (B) STHEAN & - 1920
(C) AT TARE - 1941 (D) HferTa STe SR - 1930

39. Choose the false statement from the following-
(A) The 23th Tirthankara of Jainism was Parsvanath.
(B) Kabir called 'Ramanand' the saint of saints.
(C) Shaivite followers in South India were called Nayanars.
(D) Gurunanak was born in Talwandi.

11 & | 319 e 1 1 -

(A) S o1 % 23 et aTeee 9 |

(B) ®silk 7 ‘MR <l Hdl ol Hd el |

(C) =feror Ra § a0 A7l <l TR el S o |

(D) T&h ol S deraue] | ga |
40. Which of the following scholars is not related to Kalibanga?
(A)A.N. Ghosh (B) B.K. Thapar
(C)B.B. Lal (D) Ratna Chandra Agarwal

frefafaa 4 © ford fagm w1 awiy shefie 9 721 872
(A) TTA AN (B) sl 3h.9TIX
(C) =l =it o (D) T =g 3Tarel
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41.

42.

43.

44,

(15)

Which of the following pair is not correctly matched-

Princely State
(A) Dungarpur -
(B) Udaipur -
(C)Kota -
(D) Bundi -

frefafaa o & S g gafea 12 8-
R

(A) TR -

(B) 33T -

(C) =r -

(D) F -

Which ruler is called "Vishmighati Panchanan'?
(A) Hammir Chauhan
(C)Rana Lakha

o sTEes Rl * foroeiet d=m vl TR R 2
(A) TR FRH
(C) IO T

Who wrote the book "Vrikshayurveda'?
(A) Sutradhar Mandan
(C) Maharishi Sushruta

‘gergas’ el i AT fohe hi oft?
(A) GHIRHUST A
(C) Wi gga

Ruler at the time of integration
Laxman Singh

Bhupal Singh

Bhim Singh

Sumer Singh

ThIhUT & HHY IR
[SERLNEH

UIA (68

fiv fie

g fog

(B) Hammir Sisodia
(D) Rana Kshetrasingh

(B) HIR fowifean
(D) Tom &=fEg

(B) Chakrapani Mishra
(D) Shangadhara

(B) =rshurfor fis 4
(D) TNTTER A

Arrange the following rulers in chronological order-

1. Bhagwant Das
3..Jai Singh-1
(A)2,1,4,3
(©)1,2,3,4

2. Bharmal

4.. Bhav Singh
(B)2,1,3,4
(D)1,2,4,3
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45.

46.

(16)

freiford STeht <l HIcTshT o STTUR Saferd -
1. WTed <9

3. SHfHE 9aH

(A)2,1,4,3

(C)1,2,3,4

Match the column-
(A) Megjar Safotiswood
(B) Colonel Abbott
(C) General Roberts
(D) Brigadiar Homs

(1) 2) 3) @)
A @) (iii) @ (i)
(B) (i) (1) (iv) (i)
€ (i) (iv) @ (i)
@ @) (1) (i) (iii)
gafed -
IS Afarerrdl
(A) TS ThifeEgs
(B) < Telle
(C) SR VeI
(D) fsriifer grea

(1) (2) G @
A @) (iii) @ (i)
(B) (i) (1) (iv) (i)
€ (i) (iv) @ (i)
@ @) (1) (i) (iii)

Which of the following is not correctly matched-
(A) Sarvahitkarini Sabha

(B)Aajad Morcha

(C) Des Hitesini Sabha

(D) Pratap Sabha

2. R
4. 99 fe
(B)2,1,3,4
(D)1,2,4,3

(1) Kota

(1) Auwa

(111) Nasirabad
(iv) Nimach

hifd AT he
(i) F=
(ii) TS
(iii) =
(iv) =

Churu
Jaipur
Udaipur
Ajmer
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47.

48.

49.

50.

(17)

Frfafea # @&t gafaa &t 8-

(A) HeifgaerToft 71 - ELS)

(B) rsTe Hi= - S

(C) <=1 feduoft - SEAY

(D) WaTq 9T - ST

Who gave the name of Rajasthani painting style to the Pallivit painting in the state of Rajputana?
(A) W. H. Brown (B) Eric Dickinson

(C) Anand Kumar Swami (D) Raikrishnadas

TSYAT T3 H veafaa feaenat i Terer femdiett o = fora fean?
(A) T, TH. =T (B) Tl feferem
(C) 3THE FHHR Tt (D) TTHEH

Which folk dance 1s known as the soul of folk dance?

(A) Chakri (B) Garba
(C) Bhavai (D) Ghoomar

F T Ik T T CAIhJcal Shi STICHT ST I &7

(A) =l (B) T

(C) warE (D) R

Which of the following pair 1s not correctly matched-

(A) Dabu Print - Akola (B) Ajrakh Print - Barmer
(C) Malir Print - Pratapgarh (D) Bagru Print - Jaipur
e B | S e vt gaferd =2 8-

(A) B9 flie - sFehlet (B) 3TsR@ Tz - arsix
(C) #eik fYe - game (D) o7& T4 - AL
Who was the originator of "Terapanth Dharma Sangha" ?

(A) Bhikan Ji (B)Mav Ji

(C) Haridas Ji (D) Bakhana Ji

T o T Yook i & ?

(A) Gt (B) HEsit

(C) zfErasit (D) sETSH
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(18)

51. Who is called 'Ulysses of Rathores' ?
(A) Bankidas (B) Durgadas
(C) Dayaldas (D) Sivdas

‘etEl w getida’ ford et ST € ?

(A) SiiehierE (B) giier®
(C) =A™ (D) fererera
52. Which of the following is not correctly matched-
(A) Nirjala Ekadashi - Vaishakh Shukla Ekadashi
(B) Akshaya Tritiya - Vaishakh Shukla Tritiya
(C) Rakshabandhan - Shravan Purnima
(D) Sheetlashtami - Chaitra Krishna Ashtami
1 o & we ghfaa 121 8-
(A) Trsier wenreeht - I YA TR
(B) st gt - ST YT el
(C) Teamiert - et ot
(D) e+t - = FO ST

53.  Which of the following is not correctly matched?

Tourist Spot District
(A) Chitar Palace - Bikaner
(B) Sas-Bahu Temple - Udaipur
(C) Albert Hall Museum - Jaipur
(D) Jarina's Makbara - Dholpur
Frfafed # @ w@t gafad &1 8?

T W fstem
(A) BIR o - EIEE
(B) GrH-=g HfT - IR
(C) 3T7ere 3ia Hforad - SR
(D) ST 1 TR - BlGiery

P.T.O.


https://www.print-driver.com/?demolabel-en

54.

55.

56.

(19)

Which of the following is the correct sequence of mountain ranges from north to south?
(A) Karakoram-Zaskar-Ladakh-Pir Panjal (B) Zaskar-Pir Panjal-Karakoram-Ladakh
(C) Karakoram-Ladakh-Zaskar-Pir Panjal (D) Pir Panjal-Zaskar-Ladakh-Karakoram

=1 B 9 i wela SRl b SR & S 6t SR Ul % §-
(A) R - STER- e - dRY STl (B) STTEF -4~ R H- AL
(C) FRIRRH- ARSI G ST (D) TRUSITE- SRR - ATaRE - IR

Rechna Doab is located at-
(A) Between Ravi and Vyas (B) Between Chenab and Ravi
(C) Between Vyas and Ravi (D) Between Chenab and Jhelum
T Qe feerd §-
(A) Tl 9 =9 & o= (B) forel & eit o =
(C) =g 9 Tl & o= OREIEEENEEXIE]
Match the following-

List-I List-11
(1) Coromandel Coast (1) Maharashtra
(2) Konkan Coast (1) Kerala
(3) Uttar1 Sarkar Coast (111) Tamil Nadu
(4) Malabar Coast (iv) Odisha
Code :

(1) (2) G &

A @ (iii) (iv) (1)
B) (D) (1) (iv) (1)
© (D) (1) (i) (v)
D) ) (iii) (i) @
gHfeTd -

Teit-1 geEil-11
(1) ®HTSA T (i) ™ewE
(2) IR qE (i)
(3) STl TR T2 (iii) dfHeTTg
(4) HIATEIR 72 (iv) sfifeHn
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57.

58.

59.

%<

(1) (2) 3)
A @ (iii) (iv)
(B) (i) (1) (iv)
€ (i) (1) (i)
(D) (iv) (ii1) (i1)
The Khadar Areas in the of Punjab plain are called ?
(A) Bet
(C)Reh
Sfrel o HeM T @It &1 hl a1 Sl 8 ?
(A) =
(O

Which of the following is mismatched-

National Park
(A) Jim Corbett
(B) Bandipur
(C)Kanha

(D) Simlipal

11 B & e sTgHferd B
RIS b

(A) 5 @Eie -

(B) S -

(C) =r=t -

(D) faweiiare -

(4)
(i)
(i)
(iv)

(1)

(20)

SIS 9, o1, ST, (1Y
12@1@3{-’ 2021 319 12 T qTF

[ACADEMY] %

AT wwickalam

(B) Bhood
(D) Dhaya

(B) e
(D) #r

State

Assam
Karnataka
Madhya Pradesh
Odisha

Environment Protection Act was passed in India?

(A) 1972
(C) 1986

(B) 1982
(D) 1992
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21)

qRG H qafaor Teeror rffTem Tika foran Tran on?

(A) 1972 (B) 1982
(C) 1986 (D) 1992
60. Match the Following -
Wetland Area State
(1) Chandratal (1) Madhya Pradesh
(2) Loktak (11) Tripura
(3) Rudrasagar (111) Manipur
(4) Bhoj (iv) Himachal Pradesh“Code :
Code :
(1) (2) G @
(A) (i) (iv) @ (i)
B) @) (iii) i @
© @) (1) (i) (iii)
D) @D (iii) »H ()
YAl -
Y T T
(1) =r=are (i) wemew
(2) T (i) frqm
(3) T=HF (iii) HIUTYL
(4) (iv) feHr=re qeu
e
(1) (2) G @
(A) (i) (iv) @ (i)
B) @) (iii) i @
© @) (1) (i) (iii)
D) @D (iii) »H ()
61. What is the fault separating the south-eastern plateau of Rajasthan from the Aravalli?
(A) Main boundary fault (B) Main central thrust
(C) Great boundary fault (D) Himalayan forward fault
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62.

63.

64.

(22)

TSR & ferofi-geff ToR I STEael ¥ ST w7 arel 93 7
(A) TeA w9 (B) 7&A it &
(C) wer =T 91 (D) fewter a1 ww

Which of the following is false-

(A) In Rajasthan, during the winter, 'Mawat' accures due to the north-east monsoon winds.

(B) The variability of rainfall in Rajasthan increases from south-east to north-west.

(C) The Arabian Sea branch of the monsoon receives very little rainfall due to its parallel to the Aravallis.
(D) 'Aw' type of climate is found in South and South-East Rajasthan.

1 H 9 i s B

(A) TS H iiashel § S-e TR ganell | ee g § |

(B) TS H 2feqor-ve & IR-ufvem &Y 371 9e W aui ot RadTeiad gl S ¢ |
(C) AFEH i 3T R ARG 3REet 3 HHFR 21 3 ShR0T ST <A 9 o U1t ¢ |
(D) =feqor & féqoit-qat Tseem™ § 'Aw' YR Y STadrg I Sl 2 |

Which of the following is mismatched-

Main River Tributary
(A) Chambal - Mej
(B) Banas - Khari
(C) luni - Mithari
(D) Mahi - Sei
e B 9 e ergAfera -
e St HETaeh ot
(A) =F=rcd - S|
(B) sHE - i
(C) it - RlcE!
(D) Tt - B
Red-loam soil is found in Rajasthan-
(A) Sawai Madhopur - Alwar (B) Udaipur - Dungarpur
(C) Ganganagar - Hanumangarh (D) Baran - Jhalawar
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(23)

TS H ATd-<me 9al U1 it g

66.

(A) TR ~ SR (B) S5AR - SRH
(C) TR - TFHATE (D) S -~ ATt
. Match the following -
Irrigation Project District

(1) Takli (1) Jhalawar
(2) Lhasi (i1) Bundi
(3) Gagarin (111) Kota
(4) Gardara (iv) Baran
Code :

(1) (2) G &
(A) (i) (iii) vy (@
B) (D) (1) (i) (v)
© ) (iii) » @)
(D) (D) (iv) » @)
HHferd Y -

o= ufEsT TStet

(1) et (i) @S
(2) wTet (ii)
(3) T (iii) <hier
(4) & (iv) o
e

(1) (2) G &
(A) (i) (iii) vy (@
B) (D) (1) (i) (v)
© ) (iii) » @)
(D) (D) (iv) » @)
Which place 1s not related to lignite mining?
(A) Jhamarkotra (B) Giral
(C) Palana (D) Kasnau
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67.

68.

69.

70.

24

SHIET T forrrge @ 4 geif e -
(A) AHRIEE (B) T'R&T
(C) et (D) FHTH

Which of the following 1s not a Central Government Undertaking?

(A) Sambhar Salt Ltd. Sambhar (B) Instrumentation Ltd. - Kota

(C) State Woolen Mill - Bikaner (D) Hindustan Machine Tools - Ajmer
71 # § 1 s THR I STHH T8 §7

(A) " HIee Tt - |i9e (B) sz fa. - wrer

(C) T el THet - sitehliT (D) feg&aH Wi Zod - TSR
Which district has the highest rural sex ratio in Rajasthan?

(A) Sirohi (B) Pali

(C) Dungarpur (D) Banswara

Torer § waffes amdior fefmura arer fsen g2
(A) @t (B) dreit
(C) TR (D) searst

If (a+b):(b+c¢):(c+a)=6:7:8 and g+ph+¢c=14 then ¢=?

(A)6 (B) 7
)8 (D) 14

A (a+b):(b+c):(c+a)=6:7:8 TN g+ h+c=14 BT =9
(A)6 (B)7
(OF: (D) 14

The shape of aroom in a school 1s cuboidal and it can accommodate 80 students. Each student needs 15
square decimeter of space on the floor and each student needs 300 cubic decimeter of air. If the width of
the room is 24 decimeters, what is its height?

(A) 20 decimeter (B) 50 decimeter

(C) 80 decimeter (D) 40 decimeter
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71.

72.

73.

(235)

Teh =1 % Ueh hAL <l SR SR § a1 399 80 faenet e weha € | el W e ferameff =1 15 o
S T $t SEvIhal TSl & a7 Ik farameff 1 300 =7 SHHeR ga1 =gt | afg wm #t Jer 24
U B, O SHH SE FA R 2

(A) 20 SHHX (B) 50 SHHeX

(C) 80 SHIHIX (D) 40 SHiHRT

There 1s enough food for 1800 soldiers for 60 days and each soldier eats 650 grams of food per day.
After 44 days 600 soldiers leave the camp. Now for how many days does the food last for the rest of the
soldiers? If now every soldier eats 780 grams of food?

(A) 20 Days (B) 22 Days

(C) 18 Days (D) 25 Days

1800 TfThi o foTw 60 fet o oY i ¥ieH © TR s Afes wiafeT 650 T isH @ 8 144 T & @18
600 Tifereh T A et Fehet STTA € | o1el oIt STaHT o fere @t fea famil aeh war @ 1 afe o1« gk afeh 780
UM GHT EIT?

(A) 20 (B) 22 &7

(C) 18 fa (D) 25 f&a

The base of a triangle is equal to the perimeter of a square whose diagonal is 9./2 c¢m and its height is
equal to the side of a square whose area is 256 cm, find the area of this triangle?

(A) 244 5q. cm (B) 144 sq. cm

(C) 288 sq. cm (D) 576 sq. cm

T T[T o1 STTUI Weh U ol o Ty o e & forerent fareol 9. /2 Tt & it et Srame Wb G ot ot spom
% SIER § TSrehT €mwhat 256 o ST ¥, 59 TS 1 St J1d whifete?
(A) 244 =1 9t (B) 144 =1 9t
(C) 288 = Tt (D) 576 a1 9wt

What will be the ratio of the area of a square inscribed in a circle to that of a square inscribed in a
semicircle of the same radius?

(A)2:1 (B) 5:2

(©)3:2 (D) 1:4

Teh I o ST 4 o 1 SABA o ST 5901 & TG o = o1 o &Il T STIUTA T 12
(A) 21 (B) 522
(C) 322 (D) 14
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(26)

74. The lengths of two parallel sides of a trapezium are 28cm and 40cm. If the length of its other two sides

75.

76.

77.

per 12cm, then what will be the area of the trapezoid?
(A) 204/3 sq.cm (B) 324./3 sq.cm
(C) 41643 sq.cm (D) 504+/35q. cm

Toh THE IS 1 & THIR STsil T arss 28 Tt 3R 40 Tt ¥ 1 AT st 3177 < ofsieii o0t g w12
[, 31 1 e SIS 1 SR T 3R

(A) 2043 =1 &l (B) 324./3 ot &t
(C) 4163 T Gl (D) 504+/3 1 9H

In an examination a student gets 32% marks and he fails by 28 marks, in the same examination other
student gets 43% marks and passed by 9 marks then find the integer-

(A) 550 (B) 600

(C) 700 (D) 750

Teh TET H Teh B I 32% 3ok YT 21 € a1 9 28 3Tehl | 70T 21 T © 36t wliel § Ueh 371 B 43%
3Tk YT RTAT § AT 98 49 31T T 3ol BT S & < qoifer 91 ohdl-

(A) 550 (B) 600

(C) 700 (D) 750

There are two candidates in an election. 75% of the voters cast their votes, out of which 2% votes were
declared invalid and a candidate got 9261 votes, which is 75% of the valid votes. Then how many voters
are there in the election?

(A) 16000 (B) 16400

(C) 16800 (D) 18000

Tk A § 2 SHEAR ¥ | 75% Aaerei 7 92 S, fo § 2% wd 18 =it & fad 79 T SHigar
9261 dire firel St 39 Hal o1 75% ¥ | 61 I H el foha Hagm €7

(A) 16000 (B) 16400

(C) 16800 (D) 18000

Four years ago the ratio of the ages of A and B was 2 : 3 and after four years it will become 5 : 7, then find

the present age of B?
(A)52 Years (B) 56 Years
(C) 48 Years (D) 40 Years
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78.

79.

30.

27)

TR 91 T A 3R B i 3T I UM 2 ¢ 3 o1 IR IR 9 o1 98 5 ¢ 7 8 SRl B sl IduH 219 1
HA?

(A) 52 (B) 56 o

(C) 48 = (D) 40 =

The ratio of zinc and copper in an alloy is 1:2. In the second alloy the same ratio 1s 2 : 3. In what ratio
should both the alloys be mixed so that the new metal contains zinc and copper in the ratio 5:8-

(A) 3:10 (B) 3.7

(C) 10:3 (D) 7:3

e frr g o fiop 3T 18 1 o1uTa 1:2 § 1 g0l fasreng ® =@t o7qurd 2:3 ¥ | forr a1ara # 1 fsgengati &
forran e 6t =8 e § e iR qien 5:8 % S7uTd H €1 = -
(A) 3:10 (B) 3:7
(C) 10:3 (D) 7:3

A man bought two horses for 19500 Rs. He sold one horse at 20% loss and the other horse at 15%
profit. If the selling price of both the horses 1s same then the cost price of both the horses respectively
will be?

(A) Rs.10,000 and Rs.9,500 (B) Rs.10,500. and 9000 Rs.

(C) Rs.12,000 and Rs.7,500 (D) Rs.11,500. and 8000 Rs.

Tk A T 19500 TI9 T 3 S TR | T =S BT 3T 20% BT T AT TR 8IS 3T 15% o W 9=
T | afs ST =Sl o1 forsRa o TEM ¢l S SISl o R T[T SHAN: B2

(A) 10,000 &. 3iX9,500 &. (B) 10,500 &. 3{X 9000 .

(C) 12,000 &. 3R 7,500 . (D) 11,500 &. 3iX 8000 .

If 14 watches of same cost price are sold at the rate of Rs.450/watch, then the profit is equal to cost
price of 4 watches. What is the cost price of one watch ?

(A)Rs. 350 (B) Rs. 360

(C)Rs. 420 (D) Rs. 630

YA 5 Yoo aTelt 14 "feai ol 450 &/t <8 o= a1 1 4 =il o AN Yo o R ot g ¢ O U

HS! ol 3.3, J1d A2
(A) 350 &. (B) 360 .
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81.

32.

3.

(28)

(C) 420 ®. (D) 630 ®.

The compound interest on a certain sum of money at the rate of 5% per annum for the second year is
Rs.861. If so, find the principal amount?

(A) Rs. 16000 (B) Rs. 16400

(C) Rs. 8000 (D) Rs. 8400

s ke o it W 5% anfifer < & goY o &1 =shafs =<1 861 ¥. ¥ O Yoie 91d whil?
(A) 16000 . (B) 16400 .
(C) 8000 &. (D) 8400 .

If the ratio of the difference between simple interest and compound interest for 3 years at the same rate
of interest to the difference between simple interest and compound interest for 2 years is 23:7, then
find the rate of interest?

(A) 142% (B) 163%
©) 28?% (D) None of These

ToRsdt 1 <1 UM =191 S W 3 96 o WIER0T TS 9 Fshafg SATS o 3T I, 2 I8 o HIER0 TS 9 Shd(S
TS o SR W STUM 23:7 ¥ N <A1 < A 2

(A) 142% (B) 163%

(€) 285% (D) &7 & ¢ Tef

A cricket player whose bowling average is 12.4 runs per wicket. In the next innings, he takes 5 wickets
for 26 runs. Result of this his average improves by 0.4 runs/wicket. Then the number of wickets taken by
him till the last match is-

(A) 64 (B) 72

(C) 85 (D) 90

e Tohohe faanet foment Tigarstt 1 fd 12.4 W 9fd fashe T 1 1melt uit § 9% 26 W T 5 fashe sar ¢

oo 3 3frad B 0.4 T/faehe o1 GuR 1 Siar € | sifad e qeh 39 gr foe T faske ot den B-
(A) 64 (B) 72
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84.

35.

86.

29)

(€) 85 (D) 90
Identify the wrong term in the given series-
13, 41, 85, 147, 221

(A) 41 (B) 85
(C) 147 (D) 221
T SE | T UG i UgAM it
13, 41, 85, 147, 221
(A) 41 (B) 85
(C) 147 (D) 221 )
IFAegaE i sifaw fafd
Find the number in place of missing term in the following series? (2] Hﬁ?: 2021
oA 12 a®
9,51, 132, 416, 1676, ? R
VisitUs. www.kalam.academy
(A) 8386 (B) 8080
(C) 9214 (D) 7284

1 e o faqw 18 o T W R e R’

9,51, 132, 416, 1676, ?

(A) 8386 (B) 8080
(C) 9214 (D) 7284

Find the missing term in the following series -
BX EV R NL TD ,
7 7127207 347 607

BV CT
A) 100 ®) 1o
AU AT
©) 10 AT
11 sjgen § faea ug Ja & -
BX EV R NL TD ,
7 7127207 347 607"
BV CT
A) 100 ®) 1o
AU AT
©) 10 AT
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(30)

87. Select the related letter from the alternatives given below -

38.

BVSK:PHEY :: ?: TWC(CI

(A) EGQH (B) RXDG
(C) FGQW (D) DGPW
== foa T faskeul © 9 Heifta ster g -

BVSK:PHEY :: ?7: TWCI

(A)EGQH (B)RXDG
(C) FGQW (D) DGPW

Select the related number from the options given below-
734 :64 ::526:?

(A) 52 (B) 81
(C) 73 (D) 92
= fe3 T foreredi § 9 Geifia den g1

734 :64 ::526: 7

(A) 52 (B) 81
(C) 73 (D) 92

89. Find the missing number in the given figure-

? 08

10 /51 | 55 \ 03

09 88 | 96 / o5

13 11

(A) 11 (B) 08
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90.

(€) 10
@ T fom § @ S 9| B
? 08
10 /51 | 55\ 03
09 88 | 96 05
13 11
(A) 11
(€) 10

Find the missing number?

12 9 | 7 728
7 3 8 150
15 6 | 4 335
1| 12 | 9 632
(A) 10
(C) 05
o s 9+ -
12 9 | 7 728
7 3 8 150
15 6 | 4 335
1| 12 | 9 632
(A) 10
(C) 05

G1)

(D) 07

(B) 08
(D) 07

(B) 19
(D) 06

(B) 19
(D) 06

P.T.O.
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91.

92.

93.

9.

(32)

If 14@9*7=98 and 5@23*19=27 then 7(@18*8 1s equal to which of the following?
(A) 83 (B) 71
(C) 59 (D) 44

S 14@9*7=98 T 5@23%19=27 B 1 7@18*8 T1=1 T & forueh IR 772
(A) 83 (B) 71
(C) 59 (D) 44

Select the odd letter from the given alternatives-

(A)AEIM (B) BFIN
(C) CGKO (D) FDKN
@ e faehedi ® 9§ foom o7er =l gfe-

(A)AEIM (B) BFIN
(C) CGKO (D) FDKN

Select the number which is different from the number given in the other alternatives-
(A) 703 (B) 559
(C) 551 (D) 653

Y G =TT HISA S 31 faehed § € 1 e 9 i B
(A) 703 (B) 559
(C) 551 (D) 653

Select the related word pair from the given alternatives -
Ammeter : Current : : ?: ?

(A) Scale : Speed (B) Seismograph : Density
(C) Barometer : Humidity (D) Anemometer : Air flow
@ T foeredl © 9 Haifua v g 1 e -

S foga e 2 ?

(A) Tk : TIfd (B) faeum® : o

(C) SR ; aT=an (D) TR ; 91 Yo

P.T.O.
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95.

96.

97.

(33)

From the given alternatives, select the one that is different from the other three options-
(A) Light (B) Wave
(C) Heat (D) Sound

e T3 Tl o O 39 Toreshed vl == o SiT 319 i Torhed] @ fa=1 8-
(A) T (B) T
(C) ™ (D)%l'ﬁ

If every second letter of the English alphabet starting with B 1s written in lowercase letters and rest of
the letters in capital letters, then how will the month of September be written?

(A) SePTeMBeR (B) sePTemBeR

(C) SEptemBeR (D) SEptEMDbEr

I B | Y& A gU SIS TUTHIET o Tcdeh O 31eR 1 Ble 37&R § a1 W 1&i ol 98 31eill # fon <ima
TR AT 1 FH o Sam?

(A) SePTeMBeR (B) sePTemBeR

(C) SEptemBeR (D) SEptEMDbEr

Read the passage given below and answer -

Meditation is essential for the purity of your soul and inner peace of your mind. Since ancient times,
sages and saints have been using that method for self-realization. They believes that meditation is the
only way by which you can attain God's company and know your true purpose in the world. Many schools
and universities are also incorporating meditation into their regular curriculum. Although people try to
do it the right way, according to experts, simply learning to control your breathing and exhalation is the
most appropriate way to learn meditation.

Conclusion: Controlling the movement of inhalation and exhalation is not the easiest way to meditate.
There are other ways to do simple meditation.

(A) The conclusion is definitely true.

(B) The conclusion is probably true, but definitely not.

(C) The conclusion is probably false, but definitely not.

(D) The conclusion is definitely false.

P.T.O.
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98.

99.

(34

e T T TR ol Ug e I e -

‘S SR ST Y T[GAT TS AT WGk i Tiafes vifd & ford 31awere ¥ | wr=ie 9mg | 9ry-4a 39
e =61 g STcHsY 3 T e @ T | 3hT faver § R o € uohEe T © fSEeh gRy o1y Sve W
e 9T o Tehd © q1 favar § 3791 arsdforeh S ST Uehd § | e Taanard aen favafaame off sam =l
3o Frafia drezshy o e R @ T | aft A 58 o alh 9 R i R d €, Trdeii o ST{aR Shad
IR TG o o SIS i fshan T =01 1 HaT 21 &M ol HieH 1 Faiie ST aiw ¢ |

fromed : T o o Brea i foran WX =T BT €1 S T R e ST iRl TRl | HIROT S T R
3= AP W F |

(A) frerd e ST A T T

(B) T Horera: T B, forg Fifvaa &9 & =1

(C) Fr=hel Tviaa: o9 &, foeg Ffvara &1 & =1t |

(D) frerd ffv=d &9 F s T

Pointing to a woman, a man said, "Her mother-in-law is the only daughter-in-law of my son's grandfather."
How is the woman's son related to the man's son?

(A) Father (B) Brother

(C) Son (D) Uncle

Teh T < Uk HfEll i 37 S9RT HLd U hel, ¢ STh! 1, TR T o el i Sohaiid! Ty § | it & @
o9 & T3 9 1 GeieT 72

(A) foar (B) i

Ow (D) ==t

There are six members in a family A, B, C, D, E and F, B is the son of C, but C is not the mother of B, D
1s brother of E, F is brother of C, whose married A, E is the daughter of A, How 1s F related to D?

(A) Brother (B) Father

(C) Grandfather (D) Uncle

THIRER T B: e A, B,C, D, EANF ¥ 1B, C W A%, fhqg C, BH U &1 ¢ 1D, E #1 9E T I|F, C I
T ¢ foreh faae A A g @ 1A RGN E R IF 1 D A s Geig 82

(A) 9T (B) i

(C) == (D) ==
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100.

101.

102.

103.

(33)

In a certain code, REFUSAL is coded as 2101239103' and POETRY is coded as '1067927'. What will
be the code for PROFIT in that language?

(A) 18216972 (B) 12186792

(C) 81217629 (D) 21671829

foRell S 9T & REFUSAL 1 '2101239103' @& POETRY 1 '1067927' % &4 H sheals foha1 17 139

911 § PROFIT 1 e SRI1 312
(A) 18216972 (B) 12186792
(C) 81217629 (D) 21671829

In any code language, INHALE If it REEDIH is written then what will be written in that language as
MIGHTY?

(A) MILCCP (B) CCILMP

(C) MCLICP (D) IMCLCP

forelt e o § INHALE %1 REEDIH forer s € df 39 smon § MIGHTY =il 3/ o Siaem?

(A) MILCCP (B) CCILMP

(C) MCLICP (D) IMCLCP

In a certain code language LOWER is written as '186' and 'MULISH' is written as '320', then what will be
written as OPTION in that language?

(A) 198 (B) 219

(C) 247 (D) 301

foRell o 9T H LOWER %1 '186' @2 'MULISH' %1 320" feran i € df 39 s § OPTION i i feran
SR?

(A) 198 (B) 219

(C) 247 (D) 301

A person goes to his house in the east direction 24 km. Then from there 24 km goes towards south-west
direction. In the end, 24 km goes towards the north. How far is he from his house now? {\/2 =1.41}
(A) 8 km (B) 7.08 km

(C) 8.26 km (D) 6.8 km
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104.

105.

(36)

e A o797 W d faen 3R 24 km a1 € | TR T § Sfor-afiem foon #t oIk 24 km ST § 1 37 #
24 km 3 TR0 =l AR S & 1 319 98 70 SR fohal gt WE? (2 =141

(A) 8 Toptl. (B) 7.08 ferit.

(C) 8.26 TorHt. (D) 6.8 fermit.

K,L,M, N, O, P, Q, R and S Nine persons are sitting around a circular table facing the centre. M 1s third
to the left of K, who is second to the left of S. R is fourth to the right of P, who is not an immediate
neighbor of K. Q is Fourth to the left of O, L is second to the right of S and fourth to the left of N. Who
1s third to the right of Q?

(A)P (B)C

(OR (D)L

K,L,M, N, O, P, Q, R aem S =1 =fth Tk JxIhR B o AR 3T e b1 3T G oIS ¢ | M, K F o4 e
TIA WE S S FH o T I WE IR, P IR =9 T R E ST K 1 fehead w8 781 € 1Q, O i =il
TAREIL, S F 30 T M WE AN F i =g w0 WL Q Tt IR det T W 772
(A)P B)C

(OR (D)L

Ten persons are sitting in two parallel rows (five persons in each row) and all are sitting at equal distance
from each other. In one row, M, N, O, P and Q are sitting facing north while in the second row, A, B, C, D
and E are sitting facing south. Persons from both the rows are sitting opposite to each other.

P sits third to the left of N. The one who faces P sits second to the right of A. Only one person sits
between A and D. C and E are immediate neighbors of each other. E is not at any end of the line. The one
who is sitting opposite to B is to the immediate right of Q. O 1s not an immediate neighbor of Q.

Who is sitting opposite to C?

(A)P (B)M

©)Q (D)N

T =Afh A FAMIa Uil 8§ (T dfed § e safa) o9 § o o T oo S 9 g WA § i dfed H
M, N, O, P 9 Q ST e o 3TR 47 Fteh oIc & Siaifeh gl ufed § A, B, C, D 9 E feor foen &t 31k g& =tk
S ¥ 1 T wfokal o Aot SHA-TmH S8 ©

P,N F i TR TM RIS ¢ 198 A ST P F @ T, A FIA MW W E 1o AT A TD &
S 9eT € | C T E Th-W & ke TSt € | E Ui & fordt 8RR =21 § 1 9% =afad <t B % 9rg@ e %,
Q & T Tt 3R 7 10, Q ol Fohedd YSIEt 781 ¢ |

C G i SI3T 8?2
(A)P (B)M
©Q (D)N
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106.

37

Directions (Questions 106-107): Read the following information carefully and answer the given
questions-

When a line of words and numbers is given to a word-number arrangement machine as input, it arranges
them according to a particular rule. An example of input and rearrangement is given below-

Input  :87wolf 72 61 shock 76 new post 44 about 34 teach

Step-I :34 wolf 72 61 shock 76 new post 44 about teach 87

Step-I1 : 34 44 wolf 72 61 shock new post about teach 87 76

Step-Ill : 34 44 61 wolf shock new post about teach 87 76 72

Step-IV :34 44 61 wolf teach shock new post 87 76 72 about

Step-V  :34 44 61 wolf teach shock post 87 76 72 about new

Step-V : Is the last step of the above input.

According to the rules given in the above example, answer the given questions for the following inputs:
Input : 25 every tell 51 should 13 rule 71 29 follow 67 last

a9 (U 106-107 ) : FreAfefad Yo =i samge® Tga fod T gl & S -
T Uk VIS~ GEAT ] A ol VIsal o TRl i Uk U 3Ye o 9 | < Sl 8, 1 I8 3R] Uk fodi
T ER =afad wdt € 1 39 3R Yeiawe s U Seevl - faam o 8-

319E  : 87 wolf 72 61 shock 76 new post 44 about 34 teach

=OT-1  : 34 wolf 72 61 shock 76 new post 44 about teach 87

= WOT-1I : 34 44 wolf 72 61 shock new post about teach 87 76

<=WOT-111 : 34 44 61 wolf shock new post about teach 87 76 72

=WOT-1V : 34 44 61 wolf teach shock new post 87 76 72 about

=WOT-V :34 44 61 wolf teach shock post 87 76 72 about new

WO-V ST 3AYE A S RO |

SR SErET  fird T R ¥ SR e 3 36 fo f T e 36 S S
Input : 25 every tell 51 should 13 rule 71 29 follow 67 last

Which of the following element will be exactly between "29" and "tell" in step-I11?
(A) 13 (B) 25
(C) every (D) Should

T o 9 i 3rega =)0 § 29" e "tell" 5 Sieh geg H 2 ?
(A) 13 (B) 25
(C) every (D) Should
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107.

108.

109.

110.

(38)

How many elements are there between "51" and "Should" in step-V?

(A)One (B) Two
(C) Three (D) Four
=O-V H "51" 91 "Should" & T foha STaaa 82

(A) T BT
(C) (D) =R

The weights of B, F, J, K and W are different. F is heavier than only J. B is heavier than F and W but not
as heavy as K. Who is the third heaviest?

(A K (B)J

OW (D)B

B, FE, J, K 3T W % YR STelT-27 & | F et J ¥ 1faes 9 €1 B, F aen W ¥ 31 wi © oifeh K fora
I &Y & | P e Ted 21k v 82

AK B)J

Ow (D)B

In a class of 60 students, the number of boys is twice the number of girls. Amitabh 1s ranked 28th from
the top in the class and there are 8 girls above him, then how many boys are there in the order below him?
(A) 19 (B) 20
(©) 12 (D) 22

60 ST T Ueh hell H TShi ki GEAT TSRl ot TEAT i AT § | STTHATT <l HH hell H S0 T 28401 § qen
Y W § TSRl § A1 3TH < S T o dTeh §7

(A) 19 (B) 20

(€) 12 (D) 22

On which date was the first Monday in July 2007 E?
(A) 1 July (B) 2 July
(C) 3 July (D) 5 July

JATE 2007 5. H qgal GHaR TR fafer o2

(A) 1 A€ (B) 2 JaE
(C) 3 I (D) 5 &

P.T.O.
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(39)

111. A clock shows the correct time at noon. The clock accelerates by one minute every hour. So what will
be the correct time on the same day when it will be 6:05 pm 1in this clock?
(A) 6:00 PM (B) 6:10 PM
(C) 6:15 PM (D) 5:50 PM
Teh S Qe 1 o Tl TH <9I @ | 9t Tedeh Sie H Uk e o1 21 et € | o St fo W&t o o 2 =i
U HSHH W F 6:05 I B2
(A) 6:00 PM (B) 6:10 PM
(C) 6:15 PM (D) 5:50 PM

112. Arrange the given words in a meaningful (logical) order-
1.Deka 2.KG 3.Senti 4.Desi 5.Hecto
(A)5,4,1,3,2 (B)3,4,1,5,2
(©)2,3,1,5,4 (D)3,2,1,5,4

e T3 o= B wrelen (qrfeher) A SHeied whifoe-
1.5 2. e 3.9 4.8Ht 5.
(A)5,4,1,3,2 (B)3,4,1,5,2
(©)2,3,1,5,4 (D)3,2, 1,5, 4

113. Select a suitable figure from the four alternative

O|©
AN A

JAN
AENEE

(1) 2) ) “4)
(A)1 (B) 2

©)3 (D) 4

P.T.O.
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(40)

<R ferehedi | 9 T ST 3TIhid 1 =T IS -

O|6
/\ A
AN

Al b | e

(D 2) )
(A)1

©)3
114. Tore wse 1 g foue w=) =1 8-

(A) RFTd - 7§ Wl AN

(C) TR — TR skl HO

115. T3 % 9 2oy w1 SR =1 -

4

(B) 2
(D)4

(B) GHI9aT — FHI1 o folT e
(D) 97em¥ - 59 H 919

(A) WF (B) g

(C) wamet (D) TfTeh
116. FEq 7~

(A) == (B) wremg

(C) 39T (D) S
117. 39& &t g8 | IHA &

(A) TR (B) afersiifeen

(C) IR (D) 3TRTST
118, gumEes ey # 'PARALYSE' @l fe=dt wiftsnfiren 9 2-

(A) TR BT (B) it &

(C) s T (D) 39 &
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119. ‘SiTTet # o dTeft A e 3 foe e s -

(A) TR
(C) STer

120. T2t St vsg-H T §-
(A) STSR-TardT, 3TFR-3AFH
(C) TH-TF o <odl, AH-T3T

121. fe A ot fadm g 8-
(A) Heheg-Torehed
(C) Fda-foma

122. = % g A ©2

(A) AR Tt & e M 2

(C) 9% foetTd stk T @M |

(B) <rafi
(D) stgafia

(B) =9I, pa-&
(D) 39c-hH, T2

(B) G- fags
(D) FsR-3Ts1

(B) T 3h! Yeften <t |
(D) 3% Wfea-Tie se foram T |

123, <8 % = 9 TS 7 7e Sa ' - FETed H TEt e -

(A) SheE! BT
(C) BI BIHL IS BT HEAT

124, 578 9 T fosheq B Teft sy 8-

(A) IR, T
(C) g, |Ere

125. ‘g2’ 1 YA v -

(A) AN
(C) aiTT

126. 1§ o wfr @ o 1 e &
(A) deei™
(C) ===

127. ‘e’ o ourg &
(A) 571
(C) igdife

(B) Hiftd |reHl § M =l T
(D) Sfira wret | = M &l B |

(B) fiee=, Hifa
(D) fafer, gamgat

(B) AR
(D) 3T

(B) fa=g
(D) Sretr

(B) AU
(D) 58
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128.

129.

130.

131.

132.

(42)

Directions (128-131) : A passage 1s given with four questions following it. Read the passage carefully
and select the best answer to each question out of the given four alternatives.

The flora and fauna of Cubbon Park captures our attention more than anything else. But when you take
time to look closely at the statue, you will marvel at its sheer grandeur. Sculpted by Sir Thomas Brock,
the 11 feet high marble statue is larger than life. It brings out the personality of Queen Victoria, who had
been the Monarch of Great Britain from 1837 till 1901, depicting a rather proud, stern person with
pronounced features.

In 1906, the statue was unveiled in the city by George Frederick Ernest Albert, Prince of Wales and
Duke of Cornwall and York, making it stand in all its glory in its 111th year. Even though there is a wealth
of history to the statue, and it was made to appear imposing, the busy Bengalureans would probably refer
to it as just another landmark. As the workers are busy in discussion on the instructions given to them,
life continues as usual in the Park.

Queen Victoria ruled Great Britain for how many years?

(A) 64 years (B) 54 years

(C) 44 years (D) 34 years

How many people unveiled the Queen Victoria statue at Cubbon Park?
(A) One (B) Six

(C) Four (D) Two

The Bengalureans would refer to the Queen Victoria statue as

(A) wealth of history (B) alandmark

(C) Symbol of British rule (D) Bengaluru culture
Queen Victoria had all of the following traits, except

(A) proud (B) generous

(C) stern (D) pronounced features

Direcrtions : In the following question, part of the sentence may have errors. Find out which part of the
sentence has an error and select the appropriate option. If a sentence 1s free from error, select 'No error’'.

Every student have (a)/ to submit the assignment (b)/ by this afternoon. (¢)/ No error (d)
(A)a (B)b
©)c (D)d

P.T.O.


https://www.print-driver.com/?demolabel-en

133.

134.

135.

136.

(43)

Direcrtions : In the following question, out of the four alternatives, select the word similar in meaning

to the word given.

NATURAL

(A) Skill (B) Uncommon
(C) Pretended (D) Usual

Direcrtions : In the following question, out of the four alternatives, select the word opposite in meaning

to the word given.

CRUCIAL

(A) Trivial (B) Acute
(C) Essential (D) Decisive

Direcrtions : In the following question, out of the four alternatives, select the alternative which best
expresses the meaning of the idiom/phrase.

Ball is in your Court

(A) Make the right decision (B) The judgement in is your favour
(C) You should catch the ball (D) It is upto you to decide something
Which of the following is not a component of Central Processing Unit (CPU)?

(A) Arithmetic and Logic Unit (ALU) (B) Control Unit (CU)

(C) Registers (D) Random Access Memory

frefafad § & dran Hea NAfHET gf1e (CPU) &t vt ==l €2

(A) s1eitfess qitsTeh e (ALU) (B) sheld gfe (CU)
(C) Toreed (D) {eu T TR (RAM)
137.Which computer generation replaced the IC (integrated circuit) with VLSI (Very Large Scale Intergration)
circuit?
(A) Fourth (B) First
(C) Second (D) Third

R e SR 7 IC (38RIee fehe) 1 VLSI (I 1St 6 32 ) |fche H axat fear?
(A) Fourth (B) First
(C) Second (D) Third

P.T.O.
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(44)

138. Match the following-

1. Software A. Light pen

2. Input device B. Speaker

3. Output device C. Secondary memory
4.SSD D. Set of program

| ) 3 4

(A) D A B C

B) D C B A

) A D B C

() b A C B

Fefafea 1 firam wi-
(IRSIECCR I A. AT

2. 392 feamsy B. ©dieht

3. AReYe feamy C. Gervel 70
4.SSD D. & 3% Jum

| ) 3 4

(A) D A B C

B) D C B A

© A D B C

() D A C B

139. The resolution of a printer is measured in?
(A) Megabits (B) Hertz
(C) Dots per inch (DPI) (D) Inches (digonal)

foreht fifex =1 Rstegem Frfafea & wmn s e?

(A) HTEITEEH (B) &
(C) sied ufd 3= (DPI) (D) g2t (fa@n)

140. Which of the following sequence is correct for memory is terms of its speed from fastest to slowest?
(A) Primary memory > Secondary memory > Cache memory
(B) Secondary memory > Primary memory > Cache memory
(C) Cache memory >Primary memory > Secondary memory
(D) Cache memory > Secondary memory > Primary memory

P.T.O.
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141.

142.

AR & Al H SHR! o I § oo Fel &l Tif o wed # frfafaa § § fE-9 1wy wEl €2

(A) ITSTRT HHR > Tehsd AHR > e A (B) Hehsll T > WAl T > hen T
(C) 91 TURT > wrend A > Tohed Jur (D) F¥1 THRY > Hohs TERT > Tl A
Which among them is not an example of mobile operation system?

(A) Android (B) Bada

(C) Fedora (D) Symbian

0 H S Teh Hiensd ST faey (T=n 3) &1 SRl 181 €2

(A) Tgies
(C) wEm
Match the following correctly.
a) 1 Bit
b) 1 Nibble
c) 1 Byte
d) 1 Gigabyte
e) 1 Megabyte

a b C d e
(A) 11 i ii v v
(B) ii ii i v v
©) 1 i ii v v
(D) 1 ii i v v
Frefaiea = et e #i-
a) 1 Bit
b) 1 Nibble
c) 1 Byte
d) 1 Gigabyte
e) 1 Megabyte

a b C d e
(A) 11 i ii v v
(B) ii ii i v v
©) 1 i ii v v
(D) 1 ii i v v

(B) =&t
(D) Taftszm

1) 4 bits

1) O0or 1

111) 8 bits

1v) 1,048,576 Bytes

v) 1,073,741,824 Bytes

1) 4 bits

1) O0or 1

111) 8 bits

1v) 1,048,576 Bytes

v) 1,073,741,824 Bytes
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143.

144.

145.

146.

(46)

The built-in browser in Windows 10 1s called:

(A) Internet Explorer (B) Bing

(C) Microsoft Outlook (D) Microsoft Edge
faerst 10 # fAfHa sTSeR et ST -

(A) 3T TR (B) fsim

(C) HIEshIHI® S (D) HEHIERE TS
What is the shortcut key to "Center Align" the selected text?

(A) Ctrl+ C (B) Ctrl+ E
(C)Ctrl +F (D) Cul+H

TAFE fhE T TR o1 ‘T Tasd ' i & fow s &2
(A) Ctrl + C (B) Ctrl +E
(C) Ctrl +F (D) Ctrl + H

Which of the following features are available in Microsoft

I. Check the document for spelling and grammar errors.

I1. Add header, footer and page number

III. Protect the Word document with password

(A) Only I and 11T (B) Only Il and ITI
(C)Only Tand IT (D)L, Il and III

frfafed § & #- forvand Aeshiaie 9 H Suce 87
1. 3T i STIGAT o TR0 i Ffedi o T STeRHE T Slid
I1. ¥, T 3R I8 H&AT &l Sl

111 =€ Saiie il THee g gufea &

(A)Faa 1 3R 1 (B) %aat 11 3R I
(C) e 1 3R 1I (D)L II 3R I
Which of the following is not in-built feature of MS Word?

(A) Line Stream (B) Spell Check
(C) Thesaurus (D) Translate

e § F e - T T, 9 Y efaf-ifea gigen T €72
(A) BT EH (B) ¥ =ik
(C) vehret (D) 31gars
PTO.
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(47)

147. Which of the following is not correctly matched?

148.

149.

150.

(A) MS - Word - .Doc (B) MS-Excel - .XLS

(C) MS- Paint - .JPG (D) MS- Power Point - .PTP
=1 o s gafad T8 82

(A) MS - Word - .Doc (B) MS-Excel - .XLS

(C) MS- Paint - .JPG (D) MS- Power Point - .PTP

The formula =C3 + C4 + C5 has been copied from cell C7 to Cell E7. What will the formula bar display
when the cell selector is in cell E7.

(A)=E3+E4+ES5 (B)=E4+E5+E6

(C)=C7+D7+E7 (D)=C3+C4+C5

WA= C3 + C4 + C5 ®I 9 C7 T E7 Ta 8 whidl foha1 T § | 519 T SoraeX E7 e § 1M 1 Wigar s
ERIRERNRIET P

(A)=E3+E4+ES5 (B)=E4+E5+E6

(C)=C7+D7+E7 (D)=C3+C4+C5

In Power Point, the dotted areas in an empty slide are called.
(A) Template (B) Playcards
(C) Placeholders (D) Themes

R @ize T, Tk Giel wise § f6eaR &9 Sl el Sl §-
(A) ermere (B) 1S
(C) wIHEIest (D) o\

In Microsoft PowerPoint, for the logo of an organisation to appear automatically in the same position
in all the slides, you must insert it in the.

(A) Slide Master (B) Notes Master

(C) Chart Master (D) Handout Master

HIEShIGITE Tl WiEe T ol e o il o1 et Teiizs o U g1 fefa | Torenford &9 9 qeiid s & fog
HTThl 38 Ty HiHAfeTd HeT 8?2

(A) Slide Master (B) Notes Master

(C) Chart Master (D) Handout Master

P.T.O.
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